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What does th|s mean?
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Your mom says you can go out tonight if you clean your room and take

out the trash.
What does this mean?
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What if she said: if you clean your room or take out the trash?
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Algebra 1: Unit 2: Notes: Linear Inequalities

The human ear can hear sounds between the fre
frequency of sounds humans CAN hear.

quencies 20 hertzand 20,000 hertz. Use a number line to show the
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How can the above be written as an inequality?
L 20,0008 — e\, £ 20,000
‘zh\hzw Ao 1 h|2o=h
0
What humans hear: h =20 and W< 20,000
A rabbit can hear sounds as high as 42,000
hertz. Can humans hear that? U poo % 20, 00.‘)
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The lowest sound a cow can hear is 23 hertz. ?/7’ > 20
Can humans hear that?
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In order to be a solution, @S U_( inequalities

must be M_ when the value is substituted Thoto AD'“
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Make a number line to show all the frequency of sounds that humans{CAN NO'f hear
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How can the above be written as an inequality?
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A ferret can hear sounds as high as 44,000 "':' .
hertz. Is that outside the range of humans? . "l'{,ooo e WY L\L{ | 000 5 'LO)QOO
_ NoT_Toung -
Yoo - its o sowtion ~ \R_ connad ',\/\no« %
A mouse can hear as low as 1,000 he‘rtz';)ls ot Toue Nee Thue
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@inequalities are called CDMLML Inequalities

(1) “AND” Compound Inequalities:
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(2) “OR” Compound Inequalities:
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k. —3<7c+4<18

Ex1: Solve the compound inequalities.” Graph the solution set, and express in set notation. -
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» Ex2: Solve the lineacinequality. Graph the solution set, and express in set notation.
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Exit ticket: What is the difference of Solution Sets between the two types of Compound Inequalities?
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